g2 0Ooogooon

g 21 0000

emOD0000000 (row vector)x”

(acl Ty X3 ... xm) (8)

- 0:3000000040 ot

x3 (10)
Tn
- 0:30000000060
4
b=| -4 (11)
-10

e 0000 200i00 2
- 0:0(11)00000b00200
by = —2 (12)

en00D0D0O0O0O0O0O0O0 (x)T(transposition) 0000000000
oboooooooboooog.

gboboobooaoboooboobooboobooboooaa.
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- 0:0(11)00000b000

x3 (15)
Tn
Uy
Y1
Y2
Y3 (16)
Tn
0000 1<¢:<n000040
T =Yi (17)

0000000,z y00000000.0000000000000.
T=1y (18)
000. 000000400 2,0 %0000 (z;#y)000
z#y (19)
ooo.

- 0::0 (9000000 e”000e=00(11)00000b
00O0000000o0o0o,

a#b (20)
e JOODOODOO

- 0000 (0O): z,y, 2,a,b, ¢
- o000 (oof)ax,y, z,a,b, ¢
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g 22 00

e mO nO0OO A(matrix)

Y

a1 ai2 e A1n
a21 ag9 . a9n
Am1 Am2 ... QOmn

- 01:303000¢100000000

googn

r—2y—3z2=4
20 4+3y+z2=—-4
3z —4y — 72 =10

1 -2 -3
2 3 1
3 -4 -7

- 02300000 ¢2100000000

gbooooaoo

r—2y—3z=4
2+ 3y +2=—4
3r—4y —T72z=10

1 -2 -3 4
2 3 1 -4
3 -4 -7 10

em0nO0DO A(matrix)[][] i0 al

GJZT = (a“ a;2 N am>
— 0goooo
1 -2 -3
2 3 1
3 —4 -7

ogb200000d0

a§=(2 3 1)
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om0 n000 A(matrix) 00 50 a

gogoo

gb200000d

aij

ag;

aj: .

as;
1 -2 -3
2 3 1
3 —4 -7
-2

as — 3
—4

om0 nO00 A(matrix) O (4,7) 00 ayy

g1goao

0 (22)00

g20000

0 (2,3)00

1
2
3

20

-2 -3
3 1
-4 =7

aogo = 3
-2 =3
3 1
-4 -7

ags = 1
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g 23 000OOoooooo

emOnO00 A

aixp a2 ... Qin
R a1 agz> ... Q2p
A= (36)
am1 Am?2 cee Qmn
OnUO0000000 x
Z1
Z2
(37)
Tm
00 Az
a1 a2 ... Qin X a1l X T1+a12 X To+ ...+ a1, X Ty
" a1 as2 cee Qop T a21 X X1+ Q22 X To + ...+ G2y X T,
Ax = =
Aml Am2  --- Qmn Tm A1 X L1+ Q2 X To + ...+ Gmp X Ty,
(38)
goooo.
- 010000 A
1 -2 -3
A=[2 3 1 (39)
3 -4 -7
oooodo =
T
rT= |y (40)
z
oo
1 -2 -3 T IxXxz+-2xy+-3xz x—2y—3z
Axr=12 3 1 y|l =] 2x2+3xy+1xz |=|22+3y+1z
-4 -7 z 3xXx+—-4Axy+-Txz 3 —4y — 7z
(41)
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— 0200004

1 -2 -3
A=|2 3 1
3 —4 -7
00000 e
1
c= 2
—1
00
1 -2 -3 1 I1x14+—-2%x24+-3x—-1
Ae=12 3 1 2 | = 2x1+3x2+1x-1
3 -4 -7 —1 3x14+—-4x2+—-7Tx—-1

e 030000000000 Az=b0000.000b0O

4
b=1|-4
10
000.0000,0 (41)00
T —2y—3z
Az = 20+ 3y + 1z
3x — 4y — Tz
000.0000, Az =b0
xr—2y—3z 4
20 +3y+1z | = | -4
3 —4y — Tz 10

goooooooooOoO0,0000 2100000000

T—2y—3z2=4
2v4+3y+z2=-4
3x—4y —T72=10

goooaoo.
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